20258 =0ilah &

A 2 o & A

LB SXIX2

PN
INE=YNEEIE=PN
NS At2| S XA

Al A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
UNPAL=N 9,590,991 9,401,710 189,281
= 1,234,000
[ 1,340,521
Al 2,614,703
- 4,401,767
NN S=IE=PN 2,754,524 2,713,727 40,797
= 43,504
Al 905,420
- 1,805,510
NS AR S XA 2,186,381 2,200,203 13,822
Al 850,220
- 1,336, 161
KIS A2/ SXIAY 2Bt 21,266 20,256 1,010
201 2= 13,316 12,716 600
01 AtR2t2lt] 3,500 3,500 0
Oget=ZH| 3,500
OFLAY & A3 &, gt S
2,000,000 2,000
OMNol+s Ald & 2kt &2l &
1,000,000 1,000
oAx2E 7¢ 500,000 500
2 352484l 9,816 9,216 600
Oe-1elR8 QU=
5002 *1,6000H*12& 9,600
OMoi= =t SEAAE SHLI| AIESE
18,0003~ 104~ 123 216
202 04| 2,430 2,430
01 =LHOLI 2,430 2,430
o220l 1,620
o+, s 1,620,000 1,620
OF2 ABISNTLR AT & 810
07, & 810,0002! 810
203 =4l 5,520 5,110 410
03 A=A 2= 5,520 5,110 410
OF2AH (S RE=)
3,960,000 3,960
OFQAIH =2 (SXIXEM)
1,560,000& 1,560
e X+ K& 1,200 800 400
301 LEN= 1,200 800 400
03 AR 2H A 5SS (XYMSA) 1,200 800 400
Ogel (&)Xt s=+=l, At
100,000 * 12 1,200
fa 2 X K& 23,020 8,740 14,280




2A:

X XH -
o=

SXIXIZ 4
INE=YNEEIE=PN

Rl XFAR S XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 23,020 8,740 14,280
03 APl HX 402 (XL THR) 23,020 8,740 14,280
OSeD AT Felt
800,000 *20+* 16,000
ORe AL g2E X2 (5H)
234,000 %30 7,020
SEASSK2 28 924,778 917,268 7,510
Al 830,140
- 94,638
307 glztol & 924,778 916,778 8,000
Al 830, 140
- 94,638
05 21t S 924,778 916,778 8,000
OSeAtalsA2 28| 866,347
oz 634,515,000& 634,515
Al 571,062
- 63,453
oz 231,832,000 231,832
Al 208,647
T 23,185
OSEAFA 2 SAHL =g 50,431
o= 37,854,000& 37,8%4
Al 37,854
oz 12,577,000& 12,577
Al 12,577
SEARISX2 AlZ 22l R (RHH) 8,000
OAl4 #=clH| 5,000,000& 5,000
OulZ &l 3,000,000& 3,000
ARIERIAE & HESRE Ex23 XA 156,644 173,528 16,884
Al 20,080
- 136,564
301 LEIE NS 142,744 169,628 16,884
Al 9,380
- 133,364
0 AR=R22as 123,984 140,868 16,884
OARISAIAIE AS2RF SAHI
7,0003 %2462 «72&H 123,984
4Bt 2as 18,760 18,760 0
OAL|S XA E4=11=H]
56,0002 +335& 18,760
Al 9,380
- 9,380
307 glztol & 13,900 13,900 0
Al 10,700




2A:

E M

SXIXIZ 4
INE=YNEEIE=PN

el XSAEI S XIAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 3,200
10 Al SXAZEE 22X 13,900 13,900 0
OAIZISXIAIE SAR &S SKIEUE
A& 10,700,000& 10,700
Al 10,700
OAZISXIAIE SAEL REE SAIEE
X2 (kA 3,200,000 3,200
A ELH R (HEALY) 1,008,673 1,028,811 N20,138
301 2= 1,008,673 1,028,811 A20,138
0 AR=SR2E= 1,008,673 1,028,811 A20,138
OMIIEXAIE AMSELSA 2e|(HE) 1,008,673
oss 1,087,500 «12& «72&H 939,600
OusH| 3,200 x246L + 72 56,679
oul=yl 309,840 »40H 12,3%
MESS =8 Tt WE0IA X 50,800 50,800 0
201 2= 800 800
01 AtR2t2lt] 800 800
QU ERR FEMANXZ WS X 5
24 800,000& 800
301 EtE N = 50,000 50,000
03 A 2 A0 Z2 (XL THH) 50,000 50,000
Ole=ss FHTMA= HWE0IA X2
50,000,000 50,000
AESAH 2dzt X2 502,129 480,480 21,649
[ 43,594
Al 55,200
- 403,335
AESAHIE 298 S 482,941 461,292 21,649
[ 34,000
Al 55,200
- 393,741
307 elztol & 482,941 460,482 22,459
= 34,000
Al 55,200
- 393,741
05 2IMRIE =3 482,941 460,482 22,459
OSAANEASAIE 29 313,067
©Ql [ (4Y) 223,567 ,000& 223,567
o=2gH| 41,500,000 41,500
OAHZHI 18,000,000& 18,000
OAlZ2alz 30,000,000& 30,000
O TIHESA HIAE 24 2835t Al
50,000,000& 50,000
Al 50,000




2A:

SXIXIZ 4

33 NGA=K
©el: NESA 2435 X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXESAt 2LIUIOIE K& AN (2F)
76,300,000& 76,300
= 34,000
- 42,300
OFC A 43,574
(©JelFal:] 37,574,000 37,574
o=22aH| 6.,000,000& 6,000
Al 5,200
- 800
d= S§ ANESAMEE Ot MHlA X 19,188 19,188 0
[ 9,594
- 9,54
307 @I2t01 & 19,188 19,188 0
[ 9,594
- 9,594
05 2ItRIE= 19,188 19,188 0
ONASA BEEE 19,188,000& 19,188
= 9,5%4
T 9,594
KAt 2EE M gdat 66,014 33,044 32,970
NSAI2EEAN 28 32,614 29,644 2,970
201 er23| 10,314 8,468 1,846
01 AtR2t2|HI 10,314 8,468 1,846
Oggrzal 9,450
OXISAMSIEHEAM 3|oAFA g 9,450
OSSN 2lo+E
70, 00021202 35| 4,200
@u=2EOIN| 5lol4g
70,0003 »25Z +32 5,250
OSAHI(AIRIEERAIIM et2)
9,000 1 +BA 12 864
202 04| 1,680 2,400 AT20
01 =LHO LI 1,680 2,400 AT20
OZLHOBI (AL EHRH DM 2tS)
20,0002« 1H+7&L* 122 1,680
301 EtE N = 15,620 13,776 1,844
11 #AIMHIXIE S 15,620 13,776 1,844
OSgda AHelA FIt AHIXIE
10,0002 *x50& * 12| 500
OaAR21 3&A AHIXR
10,0002 «8EH*x0E+62] 4,320
O NFAI 2SN 3l &A AHIXIE
10,0003 * 152 * 12562 10,800
307 el2to| & 5,000 5,000 0




2A:

SXIXIZ 4

33 NGAR=K
el NFAS2EEAM 2dst EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 5,000 5,000 0
O=s NGMI2HE AN Has
5,000,000& 12 5,000
NSAt 2 ZH & =8 X3 33,400 3,400 30,000
201 Zet=3h] 3,400 3,400 0
01 AtR2t2|HI 3,400 3,400 0
OXIG A2 AR 2 S|/ ktg Ol 3,400
Q20243 AXE AIHE AlHZ
12,0003 #5023l 1,200
O2025E & AXIE AlRAHE Z2UIEHE
5,0003 1002 +23] 1,000
O2026E = HXIE AHAHE
12,0002 x50 +23] 1,200
207 AR 30,000 30,000
01 H7ESHI 30,000 30,000
ORI6I1(2027~2030) KIS AtEI 2 & AL
30,000,000 * 14 30,000
=28 22l & X& 3,049,460 3,000,129 49,331
Al 1,157,520
- 1,891,940
SREEHAM S A& 2 3,049,460 3,000,129 49,331
Al 1,157,520
- 1,891,940
SEEEHA & 2R3 X2 3,019,151 2,971,467 47,684
Al 1,157,520
- 1,861,631
201 Zet=d] 700 700
01 AlR 21| 700 700
OHEY F94 RF 231 AT
400,000 *1CH 400
Osl+9 60,0002 *5H 300
203 gF=4| 1,000 800 200
03 A=A =] 1,000 800 200
OFQAIH =& 1,000,000 1,000
301 EtE NS 2,794,950 2,752,350 42,600
Al 1,157,520
- 1,637,430
03 A2 E A0S (XILTHH) 2,792,150 2,749,550 42,600
OBHRTI Yol4g
1,614,000,000& 1,614,000
Al 1,157,520
- 456,480
O==sdi=< 100,0002 x868E « 12& 1,041,600




2A:

Hy: PE 22 L A
el 3RLECH S N 22 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFHFEA A=
200, 0002 *40H 12 8,000
OSELH YEIe
30,0002 *305E <22 23,700
O328E2l ¥ ILBUAL 92
50,0003 %2,007 & =12 104,850
11 dALEEIXIE S 2,800 2,800 0
OSURDN 9= MHILA(GG1Z, B=E)
70,0002 x20 M CH 23] 2,800
307 gl2to| & 222,501 217,617 4,884
02 QIZtEAAEE X 96,766 95,266 1,500
odolzga =72l 6,700
(OFSESPREt| 4,200,000 4,200
O1NHE2[H QAL 2,500,000 2,500
OM=2IREAS S 7,500
(OFSESPAREIE | 2,200,000& 2,200
OLNHE3A AIOHHA 2,200,000& 2,200
O5& JHUI0I & A 2,500,000 2,500
Oz=& X0l 25 A
600,000 600
O&=zZ012els sz 7,950
(OEZFSPNI= = 2,850,000& 2,850
ONAE3|H AQtHA} 2,500,000 2,500
O5& JHUI0I & A 2,600,000& 2,600
OR&s==2ital S22 7,100
(OFSESPAREIE | 2,200,000& 2,200
OLY3|H PHHAL 2,400,000 2,400
OdJIE= & A42Z22U3
2,500,000& 2,500
0O6.258 =S A2 S22 17,416
(OFSESPAREIE | 3,670,000& 3,670
OLY3|H PHHAL 3,656,000 3,65
©6.25 J1E A 3,800,000 3,800
O==ds A=A 3,190,000& 3,190
0FJIs= & 22203
3,100,000& 3,100
Ongua<es 74X 11,200
OXAX =l 2,000,000 2,000
O1NHE2A AItHA} 2,700,000& 2,700
OGN &tht =& X2
4,000,000 4,000
OLgHe & & /SN
2,500,000 2,500
OS+ef53sita 72X 4,000
OHA =d 1,500,000& 1,500

_6_




2A:

M 2= 2el & XA
o9 sREECH S NY 2 221
SA - B - SA(SH) - MRA - BAS ol &t A 2
O3 A} 1,000,000& 1,000
Oogts /g 1,500,000& 1,500
OEYHENLS S G 6,200
OFAXI =2l 2,000,000& 2,000
OLNE3IA A} 2,200,000& 2,200
ON=ZEAN F=2H 2,000,000& 2,000
OTfer=zolsl 7,500
ONEXl =¢ 2,000,000& 2,000
EEEENESNI k= 2,500,000& 2,500
ofe=ols SAEss XA
3,000,000& 3,000
O=+ E2HA g29l3l 21,200
ogasl &z 16,500,000& 16,500
O"ols 3 & s3Fs &=
4,700,000 4,700
03 QI HE2GHIE X 125,735 122,351 3,384
QaolzZZal=+ X3 22|
16,075,000& 16,075
OS2I RF3SAK= 23|
15,253,000& 15,253
OS2 Z0ILCIGESHANS 2
14,636,000& 14,636
ORSx=2Xg=7Xa 23|
15,292,000& 15,292
O6. 58 RS A= H
16,309,000& 16,309
OLNIGNELI =g 29
15,730,000 15,730
Os4e2RENsEX
6,168,000& 6,168
OEYNdET X2 =S7AE
12,569,000& 12,569
Os7Mg=2ls 22|
13,703,000 13,703
sHEE=EXFIE 2Y 30,309 28,662 1,647
201 LB-2AY| 30,309 28,662 1,647
01 At=22teld| 9,540 9,360 180
OgErz23| 9,540
OALRES P (AEX, HEEE S)
80,0002 x12& 960
ORIZHIAIAE S|
200,000 <12 2,400
OAAIE YaB 248
150,000« 12& 1,800
052 oEBRIY S48
150,000& * 12& 1,800

_7_




A SXXE 0
= 2t

& 22l Y
cel: sREE0 S N 22 (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORIIHBNY +4+8
115,000& * 122 1,380
OEAYALSEY 242
100,000 * 122 1,200
02 s3=gHl 20,769 1,467
OZ33x2= & HMAl 16,769
oNIIR3 800,000& 122 9,600
(OPJEaS =) 400,000 12& 4,800
OsJl Hlddates
5,800 128 70
oY - otr=Ee= 100,000& »12& 1,200
OEx=t4 SH=IHl
98,9002 %13 e
OAIE EHIS Il 5,000
O=2&=Xgl2 A4 #=clHl
5,000,000& 5,000
SIY=RIXFE 24 235,998 250,040 A14,042
= 10,000
= 91,936
Al 62,551
- 71,511
S|U=XAEE 2 235,998 250,040 A14,042
= 10,000
= 91,936
Al 62,551
- 71,511
izt g4 UER3 75 ¥ 29 8,960 6,190 2,770
201 er23| 4,650 2,890 1,760
01 At2tltl 2,650 2,650 0
Odgt==H| 2,650
O0IZE)| HEd & FAMEE A S
1,000,000& 1,000
OSTFH=LISIIFA S M& X 2]
1,650,000 1,650
2 352484l 2,000 240 1,760
o=l S| R8s S
5,0002 *400H 2,000
202 048l 810 0 810
01 2L AL 810 0 810
Ozl 810,000 810
203 =4l 1,000 800 200
03 A=A 2= 1,000 800 200
OFQAIHFZ 1,000,000 1,000
301 EtE NS 2,500 2,500 0




2A:

SXIXIZ 4

M s|U=N XA 2
Chel: SIY=EXXAL 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 A2 EH LGS (FHAAHS, XNSWE) 2,500 2,500 0
OFESAY(HAS &, DSstM)
250,000 %10 2,500
ANZ7 SEAtdl2tel X 15,000 15,000 0
[ 7,500
Al 3,750
- 3,750
201 Ler=23 | 9,660 9,660 0
= 4,830
Al 2,415
- 2,415
01 At2t2ltl 9,060 9,060 0
OAtIZ2IAtY 2| 9,060
0319 FHLL(AHHIF L &34 39)
70,0002 x4 H*23] 560
[ 280
Al 140
= 140
OMBIZT QY U DA X 22 S
3,000,000 3,000
[ 1,500
Al 750
- 750
O82 & 244l S 5,000,000& 5,000
[ 2,500
Al 1,250
- 1,250
OAtdi2el g8t SEgdstus A&
500,000& 500
[ 250
Al 125
- 125
2 s=5=34l 600 600 0
OAtell2te] g2 SHE MEE
50,0002 *1CH* 122 600
[ 300
Al 150
- 150
202 04| 840 840 0
[ 420
Al 210
- 210
01 2L AL 840 840 0




A SXXE

M s|U=N XA 2
&el: SIYSEIXAE 2 (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
OSgrAtellZel At B=0h|
70,0002 x4 <33 840
= 420
Al 210
- 210
301 LENZ 4,500 4,500 0
= 2,250
Al 1,125
- 1,125
01 MBI BEAHZ2(2DEXTHA) 4,500 4,500 0
OAtellZtel At Arit] 4,500
OArell2tel CHAXH R
500,000 x9H 4,500
= 2,250
Al 1,125
T 1,125
SHS XEE SEAHIA XEH 120,622 128,286 AT ,664
= 84,436
Al 18,093
T 18,093
201 er23 | 62,061 67,643 Ab,582
= 43,443
Al 9,309
- 9,309
01 AtR2t2lt] 62,061 67,643 Ab,582
OS AtdZelAe 22|
62,061,000 62,061
= 43,443
Al 9,309
- 9,309
301 EtE NS 58,561 60,643 2,082
s 40,993
Al 8,784
- 8,784
01 Al 2E A S(EREXME) 58,561 60,643 2,082
OS Atell2tel Attt 58,561,000& 58,561
= 40,993
Al 8,784
- 8,784
i =ENsRE 24 1,000 1,000
201 2= 1,000 1,000
01 AtR2t2lt] 1,000 1,000
oget2dl 1,000




2A:

SXIXIZ 4

M SIUSXKNAE 2
Chel: SIY=EXXAL 29 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O9=N, 20E 7o S
500,000 500
og=E3E 7Y =S 500,000 500
DSAH EEE Atell22IAE 29 69,416 68,564 852
Al 34,708
- 34,708
307 QIZ2t01 A 69,416 68,564 852
Al 34,708
- 34,708
10 IS SXAIEHE2ZHIEX 69,416 68,564 852
ODEAI REE ARBEIAY 2
69,416,000 69,416
Al 34,708
- 34,708
O A ZA=S XA 1,000 1,000 0
301 LB F 1,000 1,000
14 JIEt2 43 1,000 1,000
OSIIII7 4lD ZA2 X
50,0003 20 1,000
JSAFOlgE & 22| WA 2= ALY 20,000 30,000 10,000
= 10,000
Al 6,000
- 4,000
201 B2 AL| 10,000 30,000 A20,000
= 5,000
Al 3,000
- 2,000
01 At 22|l 10,000 30,000 220,000
OL=A PE8les &8 572 22 =
10,000,000 10,000
= 5,000
Al 3,000
- 2,000
301 LB NZ 10,000 0 10,000
= 5,000
Al 3,000
- 2,000
01 A 2&AH 2 (R REETR) 10,000 0 10,000
OL=At I daiid XIE S
5,000,000& 5,000
= 2,500
Al 1,500
- 1,000

_11_




2A:

SXIXIZ 4

M A=A 2g
Chel: SIY=EXXAL 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OTSA 8= ASlZY 84 N 5
5,000,000& 5,000
= 2,500
Al 1,500
- 1,000
NS AtRIotE e = 29 3,348,915 3,250,123 98,792
= 1,224,000
= 1,204,991
Al 489,212
- 430,712
SENY dAUSXAHIA 2= 1,721,415 1,740,749 A19,334
= 1,204,991
Al 258,212
- 258,212
KAASI MBI ASE XA 1,221,621 1,221,621 0
[ 865,135
Al 183,243
- 183,243
307 gl2tol & 1,221,621 1,221,621 0
[ 865,135
Al 183,243
- 183,243
05 212t S 1,221,621 1,221,621 0
OXISAta MHI A XHALE
1,221,621,000& 1,221,621
[ 865,135
Al 183,243
- 183,243
MEALS| MHIA SXAIS (LA SS ML) 499,794 499,794 0
[ 349,856
Al 74,969
- 74,969
201 Ler23| 6,794 6.7% 0
= 4,7%
Al 1,019
- 1,019
01 At2t2lt] 6,7% 6,794 0
OMEAIBIMHIASTIA (LA S 2 AHIA)
apedull 6,794,000& 6.7%
= 4,7%
Al 1,019
- 1,019
307 lztol & 493,000 493,000 0
= 345,100




2A:

SXIXIZ 4

g NG M 25 2
ol 2EA JASIAHA 25 (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 73,950
T 73,950
05 2ItRIE = 493,000 493,000 0
OMSAMNBMEIASE A (LA ESSAMBIA)
493,000,000& 493,000
= 345,100
Al 73,950
- 73,950
U==XXE 1,627,500 1,509,374 118,126
= 1,224,000
Al 231,000
- 172,500
2SS XXSH A 1,530,000 1,411,874 118,126
= 1,224,000
Al 153,000
- 153,000
301 22N = 1,530,000 1,411,874 118,126
= 1,224,000
Al 153,000
- 153,000
01 Al EE A S (FRNEXA) 1,530,000 1,411,874 118,126
O2sS=XXZ A 1,530,000,000& 1,530,000
= 1,224,000
Al 153,000
- 163,000
SN 21854 97,500 97,500 0
Al 78,000
- 19,500
301 22N = 97,500 97,500 0
Al 78,000
- 19,500
02 A2 EH LGS (HAAS, NLWE) 97,500 97,500 0
OS¢e S XA 97,500,000 97,500
Al 78,000
- 19,500
=D zdE2Y 3,290 3,290 0
PIESS RSy 3,290 3,290 0
SXUHYA SEEA 3,290 3,290 0
201 =3 2,480 2,480 0
01 At2t2lt] 800 800 0
O8l=s=0f 2t S oYl - E2= MA
800,000 800
2 s5=34l 1,680 1,680 0
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SA SAX2
Hu: BOD|EMBEY
ERl: JIEZMEEE EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSEXA RN JFUE AIER
35,0003 #4CH* 12 1,680
202 04dl 810 810
01 2L AL 810 810
Ozl 810,000 810
HH =S 3 198,804 184,401 14,403
QIR 2HHI(SXIXI2 D) 121,802 113,571 8,231
el 2a| 121,802 113,571 8,231
101 @124H| 121,802 113,571 8,231
01 &2 113,285 105,261 8,024
Oxz=z22=¢ 113,285
OA222+E
12,8442 +35A| 20218« 123 113,285
02 JIEtM == 8,517 8,310 207
Oozxl=2e=+< 8,517
OAZRIZR4Z (AIIEEAIIH 2t=)
10,4162 #30A1 2H+1H* 123 4,375
OAIRIAZ R4 (AIZHIEIADIH O=)
9,860 x35AI 2Hx1H <123 4,142
Jl2Z8I(SXXI&0) 77,002 70,830 6,172
JI23Hl 77,002 70,830 6,172
201 223 30,612 26,400 4,212
01 At22t2ltl 30,612 26,400 4,212
OJIZ2 A2/l 21,0008 x23E 128 5.7%
O=&4 29 100,000& 12 1,200
O=AD| gits 240,000 = 1CH*12& 2,880
OS2 Al
9,000 x23EH+8A!x 12 19,872
OS2z SAHI(AZHE D)
9,000 x1&+841x 128 864
202 04l 39,360 37,680 1,680
01 =LHOHI 39,360 37,680 1,680
Ozl 20,0003 <23 7L« 12 38,640
OZHLHOHI (Al H OH=)
20,0003 »1H 3122 720
203 g4l 7,030 6,750 280
01 J|2=2gdR=AH] 3,250 2,970 280
O=sXus=% 3,250,000 3,250
M A2 LRFEI 3,780 3,780 0
O21EA4(25H0I5H) 350,000 * 122 *90% 3,780
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